Trage die Nachbarzahlen ein! (#2)

Nachbartausender
Vorganger 552 000
Zahl 552 954
Nachfolger 553 000

Nachbarzehntausender

Vorganger 230000
Zahl 234 201
Nachfolger

Nachbarhunderttausender

Vorgadnger 300 000
Zahl 348 458
Nachfolger

238 11

511 456

222 345

2. Rechne mit verwandten Aufgaben.

200 + 400 =
2000+ 4000 =
20000+ 40000 =
200 000 + 400000 =

145 + 240 =
1450+ 2400 =
14 500 + 24000 =

145 000 + 240 000 =

144 257 150 865

894 428 252 346

#3157 456 068

260 + 180
2600+ 1800
26 000 + 18 000
260 000 + 180 000

554 + 300
5540+ 3000
55400+ 30000
554 000 + 300 000

433 253

860 428

951 284



